NINGBO ZHONGWANG AUTO FITTINGS CO.,.LTD

p NO.50-1 TIANFENG ROAD,FENGHUA,ZHEJIANG,CHINA

TEL/FAX:0086-574-88956210/ WhatsApp: 0086-13515886684/ Whechat: 48655709

2 @ w @ www.zowoparts.com

HITACHI SOLENOID LIST

zwautoparts@vip.163.com

Replaces:
Honda 31210-PC2-016, For :
31210-PD2-006, 31210- e Mitsuba OSGR Starters
PD2-016, 31210-PD2- i ions: i
Dimensions Honda (1983-1991) ,
026 e Batt. Term. M8 x 1.25 \
1 ZWHIT-001-SD . . 66-8500 Honda - Europe \
Unit Nos: e Motor Term. M8 x 1.25 (1985-1992) I
Honda 31200-PC6-663, e Switch Term. Male Spade
31200-PC6-663RM, Features:
31200-PC6-664, 31200- e 100% New
PC6-664RM, 31200-PD2-
2 ZWHIT-002-SD 66-8510
W
3 ZWHIT-003-SD 66-8508 )




Replaces: For :
Honda 31210-P2A-901, e Mitsuba PMOSGR Starters
31210-P2C-901 Dimensions:

Unit Nos:
Acura 06314-P2E-305RM,

e Batt. Term. M8 x 1.25 Post
e Motor Term. M8 x 1.25 Post

Acura (1997-2005) ,

ZWHIT-004-SD | 31500-p2E-901, 31200- | 068506 | o switch Term. Male Spade | Honda (1996-2005)
P2E-901RM, 31200-P2E- e Mounting ID M4 x 0.7 Tread
A51, 31200-P2E-A51RM, 3)
31200-PLM-A51, 31200- Features:
PLM-A51RM; Honda e 100% New
Replaces: For :
Honda 31210-P01-005, e Mitsuba OSGR, PMGR
31210-P13-904, 31210- Starters
P30-005, 31210-PO1- Dimensions: Acura (1986-1989) ,
005, 31210-PT0-904 e Batt. Term. M8 x 1.25 Honda (1984-1996) ,
ZWHIT-005-SD Unit Nos: 66-8502 e Motor Term. M8 x 1.25 Homga - Europe)
Acura 31200-PM3-005; e Switch Term. Male Spade (1991-1995)
Honda 06314-P01- (RH)
305RM, 06314-P01- Notes:
306RM, 06314-P03- e Representative image,
Replaces:
Honda 31210-PT0-015 For :
Unit Nos: e Mitsuba OSGR, PMGR
Acura 31200-PV0-J02; .Startt.ers Acura (1992-1994) ,
Honda 31200-PK2-006, Dimensions: Honda (1988-1995) ,
ZWHIT-006-SD 31200-PK2-016, 31200- 66-8503 e Batt. Term. M8 x 1.25 Honda - Europe
PK2-026, 31200-PK2- e Motor Term. M8 x 1.25 (1989-1999)
307, 31200-PT0-005, e Switch Term. Male Spade
31200-PT0-015, 31200~ Features:
PTO-015RM, 31200-PT1- ¢ 100% New
Replaces: For :
Honda 31210-P0OA-004, e Mitsuba PMGR Starters
31210-PAA-A02 Dimensions: Acura (1997-1999) ,
Unit Nos: e Batt. Term. M8 x 1.25 Honda (1996-2002) ,
Acura 06312-PAA- e Motor Term. M8 x 1.25 Honda - China (1998-
ZWHIT-007-SD | 507rM, 31200-P0A-004, | ©678505 | o switch Term. Male Spade 2001) , Honc(ia -
31200-P0OA-004RM, Notes: Europe (1998-2001) ,
31200-POA-A04, 31200- e Representative image, Isuzu (1996-1999)
PAA-A02, 31200-PAA- actual item may vary
AO2RM; Honda 06312- Features:
Unit Nos:
Acura 31200-P0OA-A01, For :
31200-P0G-A01, 31200- e Mitsuba PMGR Starters
POG-A01RM; Honda Dimensions: Acura (1997-1997) ,
ZWHIT-008-SD 31200-POA-A01, 31200- 66-8507 e Batt. Term. M8 x 1.25 Honda (1995-1997) ,

POG-A01, 31200-P0G-
AO01RM; Mitsuba SM422-
01
Lester Nos:

17582

e Motor Term. M8 x 1.25
e Switch Term. Male Spade
Features:

e 100% New

Honda - Europe
(1998-2000)




Replaces: For :
Honda 31210-P2A-004, e Mitsuba PMGR Starters
31210-P2C-004, 31210- Dimensions:
P2C-J61, 31210-P2]-J61, e Batt. Term. M8 x 1.25 Acura (1997-2004) ,
31210-P8A-AO01 e Motor Term. M8 x 1.25 Honda (1996-2004) ,
ZWHIT-009-SD Unit Nos: 66-8504 » Switch Term. Male Spade | Honda - China (2001-
Acura 06312-P8A-5050, Notes: 2001)
06312-P8A-505RM, e Representative image,
06314-P2C-305RM, actual item may vary
06314-P8A-305RM, Features:
2 M6
10 ZWHIT-010-SD 66-8509
Replaces: )
Honda 31210-PC2-026 , For :
Unit Nos: e Mitsuba OSGR Starters i
Honda 31200-PC2-681, Dimensions:
31200-PC2-681RM, e Batt. Term. M8 x 1.25 \
11 ZWHIT-011-SD 31200-PE0-663, 31200- 66-8501 . Mgtor Term. M8 x 1.25 Honda (1983-1991) ".A;‘.
PEO-664. 31200-PEO- e Switch Term. Male Spade
664RM, 31200-PE0-665, (L)
31200-PE0-665RM, Features:
31200-PE1-673, 31200- * 100% New
M&
12 ZWHIT-012-SD 66-8512
13 ZWHIT-013-SD 66-8601




14 ZWHIT-014-SD 66-8603
15 ZWHIT-015-SD 66-8605
16 ZWHIT-016-SD 66-8607
17 ZWHIT-017-SD 66-8609
18 ZWHIT-018-SD 66-8600




19 ZWHIT-019-SD 66-8602
20 ZWHIT-020-SD 66-8604
21 ZWHIT-021-SD 66-8606
22 ZWHIT-022-SD 66-8608
23 ZWHIT-023-SD 66-8610




